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5.3 Permuations and Combinations

ORDER MATTERS: Permutations
Order DOESN"T Matter: Combinations O \ =\
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Ex.) Simplify the following Expressions:
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Permutations: arrangements, order of objects
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How many possible arrangements are there?
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Ex.) A class of 32 students are voting for a president, vice president, and secretary.
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Ex.) There are 10 different book on a shelf. Four are chosen to be arranged for a
display. How many possible arrangements are there?
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Ex.) For a play there are 4 male roles and 3 females roles. If there are 6 actors and 8

actresses to pick from, how many casts are available?
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Combinations: order does NOT matter

_ n! _[n
Lo ool
\

P
dotal
droct + O'Q)QC‘\S
oy djects chosen

Ex.) Lotto 6-49 gets its name from the fact that of 49 numbers, 6 are chosen. How
many combinations are possible in Lotto 6-49?
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Ex.) A group of 15 people(9 females, 6 males) will form a subcommittee with 7 people.
How many combinations are there with
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¢) at least four females
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:EPerms: Pg. 524 #2, 5, 6, 7a, 24.
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